
DISEQUAZIONI ESPONENZIALI E LOGARITMICHE 

1) 
23

2
5

5
2 −+

⎟
⎠

⎞
⎜
⎝

⎛<⎟
⎠

⎞
⎜
⎝

⎛
xx

           ;   2) xxx )64()8(4 422

>+    ;       3) )64log()43log( 2 −≥+− xxx                       

                                      

 4) log(x – 1) ≥ 1 + log(2x – 3) ;   5) 0
)12(log
42.52

2
1

2

<
−
+−

x

xx

  ;   6) 2
2
1log <

+
−
x
x   ;   7) 0

22
1

3 1x

1x

3
2

<
−

−
−

−
⎟
⎠

⎞
⎜
⎝

⎛

 

8) 
x

2x

721
77

4
1

+
<⋅ − ;     9 ) 3logx - 5

xlog
12

<  ;       10) 
1x

x

1x

1xx

3
6

23
23

−−

+

>
⋅

⋅ ; 

 
11) ( ) ( ) 2logx12log223log xxx2 ≥+−−⋅  

 RISULTATI:  1)  x > - 1/2 ;    2) x < - 2 ∨ x > 3 ;    3) 3/2 < x  ≤ 2 ∨ x ≥ 5 ;     4)  3/2 < x  ≤
12
13
−

−

e
e

 ;     5)  1/2<x<1 ∨ x>2 ;              

6) x < ∨
−

+
2

2

e1
1e2

 x > 1; 7) 1 <x <5/2; 8) x < 2 ; 9) 0 < x < 3
4

e
−

 ∨ 1 < x < e3 ; 10) x > 
2log2
16log3

3

3

−

−
 ; 11) x ≥ 0 

 
DISEQUAZIONI IRRAZIONALI: 
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EQUAZIONI E DISEQUAZIONI in  cui compare la funzione MODULO: 
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RISULTATI: 
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